UNIT 4 Periodicity & Nuclear Chemistry Common Assessment
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1. The chart above shows the relationship between the first ionization energy and the increase in atomic number. The letter on the chart for the alkali family of elements is

A. W

B. X

C. Y

D. Z

C.5.C-R / C.2.I-Process
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 undergoes radioactive decay, the result is two products, one of which is calcium-42. What is the other product?
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C.12.B-R  

3. An arsenic atom is more massive than a phosphorus atom is, and the elements are located in the same group. Which of the following statements about arsenic and phosphorus is true?

A. Arsenic and phosphorus have the same number of valence electrons.

B. The diameter of an arsenic atom is smaller than the diameter of a phosphorus atom.

C. Because they are in the same group, the two elements have the same ionization energy.
D. More energy is required to remove an electron from an arsenic atom than to remove an electron from a phosphorus atom.
C.5.C-R
4. Iodine-131 is a radioactive isotope with a half-life of 8 days.  How many grams of a 64 g sample of iodine-131 will remain at the end of 24 days? 
F. 56 g
G. 48 g
H. 32 g
J. 8 g 


C.12.B-R / C.2.G-Process

5. What element in the second period has the largest atomic radius? 

A. Carbon

B. Lithium

C. Potassium

D. Neon

C.5.C-R

6. Bismuth-210 ([image: image13.png]210Bi)



 decays directly to polonium-210 ([image: image15.png]210
10po



).  Which of the following must be emitted during this radioactive decay?
F. alpha particle
G. beta particle
H. neutron
I. proton


C.12.B-R

7. Consider this diagram: Source of alpha, beta, and gamma radiation / paper / wood
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Which of the three types of radiation will penetrate the paper and wood?

A.  alpha, beta, gamma

B.  alpha and beta only

C.  gamma only

D.  beta only

C.12.A-S / C.2.I-Process

8.  A reaction in which two light nuclei combine to form a heavier nucleus is termed ____________.
F. Fission
G. A Chemical Reaction
H. Background Radiation
J. Fusion
C.12.C-S
9. What is the element with the lowest electronegativity value?

F. Cesium

G. Helium

H. Calcium

I. Fluorine

C.5.C-R
10. The half-life of phosphorus-32 is 14.30 days. How many milligrams of a 20.00 mg     sample of phosphorus-32 will remain after 85.80 days?

F. 3.333 mg

G. 0.6250 mg

H. 0.0391 mg
J. 0.1563 mg

C.12.B-R / C.2.G-Process

11. Which of the following decreases with increasing atomic number in Group 2A?

A. Shielding effect

B. Ionic size

C. Ionization energy
D. Number of electrons

C.5.C-R

12. Uranium forms thorium and helium, as shown in the equation below.
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Which of the following does this equation represent?

F. Decomposition reaction

G. Physical change

H. Radiation decay

J. Synthesis reaction

C.12.B-R
13. In which group are the particles arranged in order of decreasing mass?
A. alpha, beta, neutron
B. alpha, neutron, beta
C. neutron, beta, alpha
D. neutron, alpha, beta

C.12.A-S
14. As you move from left to right across the second period of the periodic table ____.
F. Ionization energy increases.
G. Atomic radii increases.
H. Electronegativity decreases.
J. Atomic mass decreases.
C.5.C-R
15. Which will complete this equation?
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C.12.B-R
16. In the figure below, what type of nuclear activity is represented?
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F. fission
G. fusion
H. alpha emission
J. beta emission
C.12.C-S / C.2.I-Process
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	Item Number
	Correct Answer
	Readiness or Supporting
	Content Student Expectation
	Process Student Expectation

	1
	A
	R
	C.5.C
	C.2.I

	2
	J
	R
	C.12.B
	

	3
	A
	R
	C.5.C
	

	4
	J
	R
	C.12.B
	C.2.G

	5
	B
	R
	C.5.C
	

	6
	G
	R
	C.12.B
	

	7
	C
	S
	C.12.A
	C.2.I

	8
	J
	S
	C.12.C
	

	9
	A
	R
	C.5.C
	

	10
	H
	R
	C.12.B
	C.2.G

	11
	C
	R
	C.5.C
	

	12
	H
	R
	C.12.B
	

	13
	B
	S
	C.12.A
	

	14
	F
	R
	C.5.C
	

	15
	D
	R
	C.12.B
	

	16
	F
	S
	C.12.C
	C.2.I


